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TREORBICKVEEYDOM ETIERT S| TREDOHBICKYEEYO EEICERTS TREORBICKYEREYO ETITERT S| TREDOHBICKYEEYDO EEICERT S
LEESNDH LERESNDH LEEINDH LEESNDA
iﬁ%@(*ﬁ%iﬂ)%é?ﬁf e iﬁ%@(fﬂ%%)%ébf o
HIRRROER || gomn/mi% 185 2K BRETRIIROER |10/ m?% 2 5 R 18
ADKRES| +F%E |HDOKRSS| +FZE |HOKRSS +FZE |HOoXSE +F% ADKRES +F%E |HDKRES| +F%E |HDOKRSS| +FZE | HOKRSS +F%
DI3bEK| DFE |DIB&EK, OEE |[DI6&K DOESE |Dr:bmEX OFS DIEERKR DEE |DIbmK| OFS |D26&8K DEFE |D3b&RKXK DFE
NED NDED NED NDED NDED NED DED NED
(kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m)
1 ~ 2 - - 60.5 1.0 - - 99 1.9 ~
2 ~ 3 - - 64.7 1.0 - - 10.2 20 ~
3 ~ 4 - - - - - - - - ~
4 ~ 5 - - - - - - - - ~
5 ~ 6 - - - - - - - - ~
6 ~ 7 - - - - - - - - ~
7 ~ 8 - - - - - - - - ~
8 ~ 9 - - - - - - - - ~
9 ~ 10 - - 54.9 1.0 - - 13.8 2.7 ~
10 ~ 11 - - 54.9 1.0 - - 12.8 2.5 ~
11 ~ 12 - - 45.8 1.0 - - 12.8 2.5 ~
12 ~ 13 ~
13 ~ 14 - - 48.3 1.0 - - 12.7 2.5 ~
14 ~ 15 - - 48.3 1.0 - - 12.6 2.5 ~
15 ~ 16 - - - - - - - - ~
16 ~ 17 - - - - - - - - ~
17 ~ 18 - - - - - - - - ~
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